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A & 0l & AF 2 E A A
20188 = =0l& LesH sdEsSH
SN SNERSD
M 48 REMA 2=
el SAE 4E BH 23 (sl &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
sttEesrsH 58,681,373 50,308,477 8,372,896
= 2,293,264
Xl 3,950,000
J| 4,320,000
< 48,118,109
& SEMH 2= 58,616,879 50,243,413 8,373,466
= 2,293,264
Xl 3,950,000
J| 4,320,000
< 48,053,615
sSAE =2 Z2HH L3 1,917,408 1,887,408 30,000
= 150,000
< 1,767,408
SMNE HAAME HE 385,708 325,708 60,000
203 YR =& 2,708 2,708 0
03 Al =AY R =&Y 2,708 2,708 0
OstERSHPFE(MAEZ 5%) 2,708
307 gl2tol & 63,000 63,000 0
02 It M AHE X 63,000 63,000 0
OZMA S HE EHIHXE A (Ha=EZ
10%) 63,000
308 A EHHSOIA 320,000 260,000 60,000
01 HXNHHNBMNEELES 60,000 0 60,000
OsAE =433 AY 60,000
10 I 2 SO0ICHetE & X 2 E AL I 260,000 260,000 0
O=4l3 HAAMNE HEAS 200,000
OsAE Al =2 &4E3 60,000
sdtE =274 XN 1,020,000 1,020,000 0
308 XX EHSOIA 1,020,000 1,020,000 0
01 HIXNHHBNEES 1,020,000 1,020,000 0
Os=dtE =270 N 1,020,000
=2 ZIACN & ZTEHH X 110,000 110,000 0
308 XXM SO A 110,000 110,000 0
01 AXHHBILEES 110,000 110,000 0
O£ st 2 X& 110,000
SHME 25 & X 84 101,700 71,700 30,000
201 Let24d]| 11,700 11,700 0
01 At 2teltl 11,700 11,700 0
OES% MUK Sl HLEZT (AR 10%
) 11,700
308 XX EHHSOIA 90,000 60,000 30,000
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N sttEasH
¥y 4F SENH 7S
H: siERSAINM (cho &)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
308 XXM SO0 A 320,000 280,000 40,000
01 AXNSGHBLAEES 320,000 280,000 40,000
Osgd TN XA 320,000
403 MtXISHHE X201 & 245,000 245,000 0
01 XM A=2EE 245,000 245,000 0
Oz =8 =28 N&E 245,000
SEXNZ SEMLIRNE(EEY 84) 1,500,000 1,378,000 122,000
Xl 750,000
< 750,000
307 21201 A 1,500,000 1,378,000 122,000
Xl 750,000
= 750,000
02 IS AMHEL 1,500,000 1,378,000 122,000
Oy sg=27 A& 500,000
Xl 250,000
< 250,000
OsE22 S0 XA 300,000
Xl 150,000
= 150,000
OsEg2Zd 22 HAHE =& 494,000
Xl 247,000
< 247,000
OMNEE &2 @ A3Us T2 29 206,000
Xl 103,000
< 103,000
SMESSSAESEUSFNR 1,015,000 649,500 365,500
403 MHXISHHE X201 H 1,015,000 649,500 365,500
01 XM A=2EE 1,015,000 649,500 365,500
Ost=RSAE 8lst X3 674,000
OXgssSAd XA 341,000
SEXNE SEFMLIRNE(UEE/sA) 400,000 0 400,000
X 200,000
< 200,000
307 glz2tol & 400,000 0 400,000
Xl 200,000
= 200,000
02 RIZFE MM E X 400,000 0 400,000
OQHYAEHE sAE 29 400,000
Xl 200,000
< 200,000
sSH&=2 TVELE K& 54,000 51,000 3,000
308 XXIEHS0IA 54,000 51,000 3,000
01 AXHHILEES 54,000 51,000 3,000
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OsENME TVEAR X& 54,000

SMSOHAE XS (KEXIEHN) 104,000 104,000 0
Jl 80,000
& 24,000

308 XX SHAMSOIA 104,000 104,000 0
Jl 80,000
< 24,000

01 HXHHIMNEXS 104,000 104,000 0
Os4AtE 0 AEY K& 104,000
Dl 80,000
= 24,000

2SS (XFXISHAN) 1,473,000 1,473,000 0
= 1,134,000
o= 339,000

308 AHXI S M SO0l & 1,473,000 1,473,000 0
= 1,134,000
o= 339,000

01 AXHNBIMNEXZ 1,473,000 1,473,000 0
O2s ol g#(2s4d<d]) XA 1,473,000
= 1,134,000
& 339,000

MIASEAMEXH (KXISH) 5,419,000 2,340,000 3,079,000
Dl 4,240,000
== 1,179,000

403 XX S S K201 A 5,419,000 2,340,000 3,079,000
Dl 4,240,000
= 1,179,000

01 HXHNMAHEBE = 5,419,000 2,340,000 3,079,000
OsMESSAIA(APC) HE K& 5,419,000
J| 4,240,000
& 1,179,000

SEXNE S (A2 ME/ st Ael) 490,000 440,000 50,000
Xl 490,000

403 XX S M S X201 A 490,000 440,000 50,000
Xl 490,000

01 MXHHE2BE =X 490,000 440,000 50,000
OKMA sAEF M2 JF2AIE X (H2) 490,000
N 490,000

SENE SSMHSXA(NZ2E A /s Hel) 10,000 10,000 0
Xl 10,000

308 XX S M SO0l & 10,000 10,000 0
Xl 10,000

01 AXHNBIMNEXZ 10,000 10,000 0
ONMH sMESEME JFE2AIE X (FA) 10,000
Xl 10,000
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H: siERSAINM (cho &)
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sS¢tE MFAEHE SHXS 187,830 187,830 0
308 AHAIEHHSOIA 187,830 187,830 0
01 HXNHHBHELS 187,830 187,830 0
O=E¢E MYBHE LA 187,830
SorE erdze] J|et R ¥ 2435 1,269,869 1,444,869 A 175,000
= 1,009,264
< 260,605
PSS (GAP) AIEER 144,000 144,000 0
= 120,000
< 24,000
403 XA SA=0l& 144,000 144,000 0
= 120,000
= 24,000
01 HIXSHMA2E X 144,000 144,000 0
PEsUE(GAP)AIEE S 144,000
= 120,000
= 24,000
GAPRIS st &F=s2, S35, MHHEY, MHHHE=* 228,269 228,269 0
ZAHl X &
= 202,264
= 26,005
308 XX EHSOIA 228,269 228,269 0
= 202,264
< 26,005
01 HIXNHHNBHNEELES 228,269 228,269 0
OGAPRI S =0t &tEd 2 AHl XI& 228,269
= 202,264
< 26,005
FAUXGAPHAE L =4 X & 893,100 893, 100 0
= 687,000
< 206,100
308 XXM SOIA 893,100 893, 100 0
= 687,000
< 206,100
01 IXNHHBANEES 893,100 893, 100 0
OF4&X GAP ot& e 24 X 893,100
= 687,000
< 206,100
GAP Q1 =&k XIJ 4,500 4,500 0
201 Let24dy] 4,500 4,500 0
01 At 22/l 4,500 4,500 0
OGAPRIZ &t X2 (Ol &R 2 10%) 4,500
FEECE 2435 XA 2,308,000 547,000 1,761,000
Xl 1,500,000
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- _ _ RE]
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= 808,000
AKX R JlBtER A 329,000 322,000 7,000
201 B9 9,000 9,000 0
01 AP 22| H| 9,000 9,000 0
OXHeH EH=sIF 22 Ko =2 10%) 9,000
308 XHXIGHH SO0l & 170,000 163,000 7,000
01 HXHHIMNEXS 170,000 163,000 7,000
O&NHANEH 29 XN 70,000
O=zZZE AN 435 MY 100,000
403 XX SHHS K20 & 150,000 150,000 0
01 XIS AZ2E X 150,000 150,000 0
OzZECE AN &X ¢ Js:ed 150,000
FEIIC AH 43 XNH 79,000 99,000 A 20,000
201 et 59,000 54,000 5,000
01 AP 2t 2] H| 59,000 54,000 5,000
OXNYEsAEZBSH 248 L 2 (0 AHE2Z 10%
) 9,000
O2ZZE AHIEXN EE 50,000
307 2I2t0| & 20,000 45,000 A 25,000
02 DIZHE AAIE E X 20,000 45,000 A 25,000
OzZZE 28 ¥ Tsusxzd 20,000
st g2 9 BEs & 130,000 126,000 4,000
307 2iz2to| A 130,000 126,000 4,000
02 QIZ2FAAAIE E X 130,000 126,000 4,000
O=E4M2 28 2 ZHe X (0lAE2 10%) 90,000
OO0t=0t =AMl 40,000
SEXNE SSMASHX R (KRS /AR DB s 1,770,000 0 1,770,000
)
Xl 1,500,000
= 270,000
403 XX SHS K20| & 1,770,000 0 1,770,000
N 1,500,000
= 270,000
01 XIS A 2E X 1,770,000 0 1,770,000
OMAT HETHE D= 1,770,000
Xl 1,500,000
& 270,000
stpngalFx 40,666,272 37,348,306 3,317,966
N 1,000,000
= 39,666,272
stpgAa X 38,342,272 35,208,306 3,133,966
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